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Errata

Page 59, Chapter 3, Question 5

Reads:  ‘d’


Should read:  ‘c’
Page 170, Chapter 7, Configuring a PAgP EtherChannel


Second paragraph, second sentence


Reads:

Older models such as the Catalyst 2950, however, offer only PAgP, so the channel-protocol command is not available.


Should read:
Because some catalyst switch models offer only PAgP, the channel-protocol command is not available.
Page 199


Should be:  The diameter is measured from the Root Bridge switch outward, including 

the Root Bridge.

Page 256, Table 10-3, last row, second column

Reads: ‘Enable BPDU filtering’


Should read: ‘Switch(config)# spanning-tree portfast bpdufilter 


default’

Page 287, Add the following TIP between the first paragraph and the “Do I Know This Already?” Quiz title


Tip should read as follows:


“Because multilayer switching requires IP routing capability, you need to make sure your 
switch configuration includes the ip routing global configuration command. “ 
Page 336, Example 13-8, Verifying GLBP Operation


Under Active router, last line, the IP address is listed as 192.168.1.13


Should read: 192.168.1.12
Page 338, Example 13-9, Displaying Detailed GLBP Configuration and Status Information (continued), Second to the last line in Example 13-9
Reads: Active is 192.168.1.13 (primary), weighting 100 (expires in 9.892 sec)

Should read: Active is 192.168.1.12 (primary), weighting 100 (expires in 9.892 sec)

Page 364, Figure 14-2, Trunking Modes for Voice VLAN


Reads: "Special 802.1Q trunk, CoS in 802.1p bits". 


Should read: Special 802.1Q Trunk, No CoS Sent



default’
Appears as: “switchport voice vlan vvid”.

Should be: “vvid” should appear in non-bold italics;

The rest of the line should be bold
Page 327, Chapter 13, Last Bullet

Remove last bullet:
VRRP has no mechanism for tracking interfaces to allow more capable routers to take over the mast role.

Page 328, Chapter 327, Table 13-2


Add the following row to table

	Track an object
	vrrp group track object-number [decrement priority]


Page 389, Chapter 15, Paragraph 5, Second Sentence


Remove this sentence and replace with:



“...on that interface in the future. MAC addresses are learned as hosts...”

Page 412, Answers to Question 10 labeled incorrectly

Reads:  “a”, “a”, “a”, and “b”

Should read: “a”, “b”, “c”, and “d”

Page 412, Answers to Question 12 labeled incorrectly

Reads:  “a”, “a”, “a”, and “b”

Should read: “a”, “b”, “c”, and “d”

Pages 418 and 419, Example 16-2 (There are 3 instances of that in the example.)


The lines that begin with “Switchconfig#” should read “Switch(config-if)#” instead. 

Page 419, Prior to Example 16-3


Reads: “primary VLAN 100”


Should read: “primary VLAN 200”

Page 419, Example 16-3


Reads as: 

Switch(config)# vlan 40

Switch(config-vlan)# private-vlan isolated vlan 50 Switch(config-vlan)# private-vlan community vlan 200 Switch(config-vlan)# private-vlan primary Switch(config-vlan)# private-vlan association 40,50 Switch(config-vlan)# exit Switch(config)# interface vlan 200 Switch(config-if)# ip address 192.168.199.1 255.255.255.0


Should read:

Switch(config)# vlan 40

Switch(config-vlan)# private-vlan isolated

Switch(config-vlan)# vlan 50

Switch(config-vlan)# private-vlan community

Switch(config-vlan)# vlan 200

Switch(config-vlan)# private-vlan primary

Switch(config-vlan)# private-vlan association 40,50

Switch(config-vlan)# exit

Switch(config)# interface vlan 200

Switch(config-if)# ip address 192.168.199.1 255.255.255.0

Page 540, Scenario 6, First Sentence


Reads: "This scenarios covers two methods" 


Should read: "This scenario covers three methods by which”

Page 537, Question 5


Add Text:  Now suppose Catalyst A and Catalyst B are configured so that their GigabitEthernet0/1 interfaces are put into trunking mode. Suppose that Catalyst A is a VTP server, ...

Page 548, Answer to Question 3


Reads: "four part answers to question 2" 

Should read: "four part answers to question 3".

Page 566, Chapter 4, Question 19

Reads:  “Yes, this probably would be normal, considering that the interface is set for 10 


Mbps half duplex.”   
Should read:  “No, this would probably be normal, considering...”

 

Page 571, Answer to Question 8

Reads:   ‘vlan 1001 is not eligible for vtp pruning’


Should read:  ‘VLAN numbers 1 and 1002 through 1005...’
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